REVISION FOR THE FIRST TERM TEST
WRITING

X. Choose the best sentence that has the same meaning as the root one.
1. "Why didn’t you come to the party yesterday.” he asked.
A. He asked me why I hadn’t come to the party the day before.
B. He asked me why I didn’t come to the party yesterday.

C. He asked me why didn’t I come to the party the day before.
D.He asked me why [ hadn’t come to the party vesterday.
2. "Is there any milk in the fridge?" she asked.

A. She asked there had been any milk in the bridge.

B. She asked was there any milk on the bridge.

C. She asked if was there any milk in the fridge.

D. She asked if there was any milk in the fridge.

3."I have seen John lately," he told me.

A. He told me he had seen John lately.

B. He told me he had I seen John lately.

C. He told me he saw John lately.

D. He told me he will see John lately.

4. It’s really cold here. The climate is awful.

A 1 wish [ knew more people. B. I wish I had more time.

C. I wish I had a cigarette. D. I wish I lived in a hotter country.
5.1 know a few people.

A. I wish I knew more people. B. I wish I were a better cook.

C. I wish I wasn’t working. D. I wish I knew something about cars.

6. They are going to England but it’s not possible for me to go with them.
A 1 wish it were possible as it is a country [ love.

B. I wish I had more food.

C. I wish 1 had a cigarette.

D. I wish I lived in a smaller country.

7. People think that he is a big liar.

A. He is thought that he was a big liar.

B. He is thought that he is a big liar.

C. It is thought that he is a big liar.

D. It is thought to be a big liar.

8. We know that the director has bought a new limousine.

A. It is said that a new limousine has been bought by the director.
B. The director is known to have bought a new limousine.
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C. It is known that the director had bought a new limousine.
D. It is known to have bought a new limousine.
9. They said that he took her to the park yesterday.
A. He was said to take her to the park yesterday.
B. He was said take her to the park yesterday.
C. He was said taking her to the park yesterday.
D. It was said to take her to the park yesterday.
10. In spite of the fact that it rained, we enjoyed our trip.
A. Because of the rain, we enjoyed our trip.
B. Though it is raining, we enjoyed our trip.
C. Despite of the heavy rain, we enjoyed our trip.
D. Though it rained, we enjoyed our trip.
11. Although he is very old, he can walk to the station.
A. In spite of his old age, he can walk to the station.
B. Despite his old age, he can walk to the station.
C. Despite the fact that he is old, he can walk to the station.
D. All are correct
12. 1 have tried hard but I can’t earn enough money.
A. Although I have tried hard, but I can’t earn enough money.
B. Although I have tried hard, I can’t earn enough money.
C. In spite of I have tried hard, I can’t earn enough money.
D. Despite | have tried hard, but I can’t earn enough money.
13. How do you start the computer?
A. How does the computer turn on?
B. How do you turn on the computer?
C. How do you turn the computer on?
D. Both B and C are correct
14. 1 couldn’t accept his offer, so I refused him.
A. I couldn’t accept his offer to avoid turning down him.
B. I couldn’t accept his offer because he was turned down,
C. I couldn’t accept his offer, so I turned it down.
D. I couldn’t accept his offer whether [ was turned down.
15. What may happen if John will not arrive in time?
A. What may happen if John will not go along in time?
B. What may happen if John will not count on in time?
C. What may happen if John will not keep away in time?
D. What may happen if John will not turn up in time?

uaLIVEWORKSHEETS



16. He often read several books a month, but he doesn’t have time anymore.

A. He was used to reading several books a month, but he doesn’t have time anymore.

B. He used to read several books a month, but he doesn’t have time anymore.

C. He got used to reading several books a month, but he doesn’t have time anymore.

D. He didn’t use to read books, but now he has time to read several books a month.

17. We were surprised to see her driving, she didn’t know how to drive when we
first met her.

A. We were surprised to see her driving, she got used to driving when we first met her.

B. We were surprised to see her driving, she didn’t use to drive when we first met her.

C. We were surprised to see her driving, she was used to driving when we first met her.

D. We were surprised to see her driving, she could drive when we first met her.

18. After the holidays, it takes me a week to get acquainted to get up early again.

A. After the holidays, it takes me a week to get used to getting up early again.

B. After the holidays, it takes me a week to be used to get up early again.

C. After the holidays, it takes me a week to get used to get up early again.

D. After the holidays, I can’t get up early again.
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